W

Series :

Candidate’s o Number/ apenrefi T Tre T

Ybﬂ s1' (212 (7]s2]0]o

Time allowed - 1 H
ol our 30 Minutes
1 EE Bﬂ'{agﬁ:re

TEST CODE : 3/2018
Category No. : 1 (M)

Total Questions : 100
e Wi : 100

Maximum Marks : 80
iRy 37F : 80

1.
; ;l:rrptﬂhmmn HUESton hers gqual marks viz, 0,80,
ode atternpting the Question papsar
booklet has total 16 Pages and OMR

-rnr m:.j. Bockiat and OMR Answer Shaeat ard propady peinbed and
ﬁf.! .__h_u:u_ill'" 15 Mot l'l.ﬂl‘l'j' mannes. Sarial Mo, and Sares
of OMA Answer Shoel and Test Bookiel Mt with aach

In case of any d “Crenancy, the canddate should i oty
frporn the matior o the invigilator |

booklet and OMR Answer EHEEL mgmﬁm:;:r:jﬁ

b entertainged afier frve minutes of stan of examination.

3. Do not korget to write roll number on the top of this question
Sheal

booklet and OMR Answer Shes

4. Do not tear or fold any page of the ouestion bookle! and OMA
Answer Shoat :

5. Candidate must bring legibly printed Admit Candwith recent
coloured photo pasted on it 8t mark B duly aftested by
Gazetted Officer and ona idaniity proo! with pholo’ ke
Driving License, Volor Card, Aadhar Card, Passport elc.
at the Examinaton Cantre ail ng which candedate wall niot
be allowead (o taka the axamination

6, Canddates are advised to maka sure o fill the corract namao
Roll No. and test bookiel coda on the OMR /£ 3 |
the space for the Bookiet Code is left blank o
booklat code 15 indicated therain and r
Rall Mo, as par instructicon, It will be de
booklal coda and Answer Shaal will
candidale himselihersall will be solaly re
CONSequUances ansing out of any ermor of ¢
the test booklet code. Candidater shall put hi
and RTI (Femakes) on attendanca Sheel, on
Sheet and on the Bomatrc Maching along wit
7. Candidate should put his/her signafura and fu
on the Admit Card 2] o places in the presance of Iny
I the Examimaton Had
& Candidates are warned nol to fold or make any stray
marks on the OMA Answer Sheet. Use of Eraser, Nall,
Blade, White FluldWhitener efc., to smudge, scratch or
damage in any manner on the OMR Answer Sheel durlng
Examination is strictly prohibited. Candidature and OMR
Sheet of candidates using Eraser, Blade, Nail or White
Flulds/Whitener to smudge, scratch or damage In any
manner, shall be cancelled.

In case of any discrepancy batween the English and Hindi
varsions nF]Lny ueslion, the English varsion will be
Ireated as finalauthentic.

o

KINDLY READ THE INSTHUCHUNS BEFORE ATTEMPTING THIS QUESTION PAPER
IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

R AR

1. TR
2 THA-TIWEA id
OMA T 9%
e e 1R 14 S gz ¢ S

A QMR 791 T 3

vl

Tig
fEm

wiFaEr o OMA T TER § S 3T
ﬁ!mmqﬂ;ﬂl

! m-fmmmnmmtmm
LA i

e
A 7, 7 iﬂ%ﬁtﬁim“ﬁhﬁmHM-m

TR 21 T fi wier w B o T # wfir
REESTERE T A e e -r“ﬁmtﬁmﬁﬁaﬁﬁ\m"mw'

3

o el sft mr s g % B T
w Tl B - snandl s v v
W 3 = e A e s e '
i e T S T T TR - e, O e
T Fnrj'f;'r R B 2 s T e O e ft |m' )
¥t & vl o :
A TR R s ol o e
et w1 S # e e
. i A L | = ;

=gl OMR 7711 - oo # fileelt oy
B0 Wl femry afm wrd i s 3 7 Ty o,

i A : WFHTH TH fire e
SR, T AT w A xwﬁurruﬁﬁr':snmﬁnm =

ol =

m

far] L1 o : :

ﬁqm ?1;-.:1:1--1 1 senfiba adn OMR o oy ﬁﬁﬁmﬁ ey

TR Rl v &5 s e st s st | “u

'ﬂ]ﬂ'ﬁmﬂﬂﬁﬂmmﬁﬁl A N\
.II,I'

(T - & 5

i
OMR T9T 79 BH 28 ( i :
R e o e g (feme P | $L.0:20459800
e <t wwm 1 Frand T s
1 dirfies @ 7 gwe dn OMR Im
TR wEEn S T, | e TR

711 OMR 770 T 1f e f-zﬁ:‘:gﬁmqm%m LR,

Al e, v i Pt 3w i 08O B
iy e W 16 72 3l
ayen &) srenfifd} W e A i R R | |
w1 3 e wreh) gRRR | .

e el e P s -
shu o ety of e & i e el 1 T

ENV.SLNO: 227800
ROLL NO: 9031227800 |

NAME !
ANUI KUMAR

Father Name:
JAGDISH CHAND

frz e ) s . R
AT

amand

i 7l v
eSS

TH S it T

T e ) 2
2w i -

feirfa & e w5 ‘:-J'ﬂ-ﬂ‘ﬂm

= B

quﬂ.ﬂqﬂ]ﬁ'HH]o

uﬁmjﬁﬁm_llrrmi'qﬁug,

on last page of this boo '
: \ ' pag klet.
. a:aqﬂfnmuﬁ:n'qqﬁ%m?ﬁq% t]:I



(C) Pusa Sadabaha

2. The Indian Evidence Act cam
from
(A) 1 January, 1872
(B) 1 October, 1872
(C) 1 September, 1872
(D) 1 December, 1872

3. Aisricher than B. C s richer than A. D is richer
than C and E is richest of all. If they are made
to sitin decreasing order of richness who will
be in the middle ?

(A) A (B) B
(C} C (D) D
4. Which two months in a year have same
calendar 7
(A) June, October
(B) April, November
(C) April, July

(D) October, Dacember

5. This King assumed the title of ‘Vikramaditya'
when he defeated Akbar’s Mughal forces in

1556.
(A) Sher Shah Suri

(B) Hemachandra
(C) Rana Pratap
(D) Prithviraj Chouhan
6. The number of possible outcomes when a
coin is tossed 6 times is
(A) 36 (B) 12
(C) 64 (D) 32

7. Self Respect Movement was started by
(A) Swami Vivekananda
(B) Ambedkar
(C) Ramaswamy Naicker
(D) Rajaram Mohan Roy
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What is the output of following code ? 11, Frefafa g2 = friaw
class test : class test
def __init__ (self}): def __init__(self):
self. variable = 'old’ self. variable = ‘old’
self. change (self. variable)
def change (seif, var).
var = 'new’
obj = test( )
::[::f:ﬁabra} prinjt{uhj,vartabl?} A3
: (AY error:function cannot be calléc
{A) error:function cannot be called (B) ‘new’is printed -
% 'rnsﬁpﬂ::;;d (C) ‘old'is printed
{b} nothing is printed 4 .
In India Food Security Act enacted in the . VT T e S A
year of & |
(B) 2012 (Ar 2011
(D) 2010 (C) 2013

sell. change (self. variable)
def change (self, var):
var=‘naw’

(D) nothing is printed

REDMI NOTE 5 PRO
MI DUAL CAMERA
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14. From the given alternatives, Bm iha md'
which cannot be formed using the letiers
the word "OUTRAGEOUS".

(A) GREAT

(B) OUTAGE

(C) SURAT

(D) GREGARIOUS

ring the

15. When a name is encountered du e
A

execution of the program, it searches for
name in the fallowing order
(A) local, global, built-in, enclosing

functions

(B) global, local, enclosing functions,
built-in

(C) built-in, enclosing functions, local,
global

{D) local, enclosing functions, global,
buiit-in

16. Chile saltpetre is
(A) NaNO, {B) KNO,
(C) LiNO, (D) Ca(NO,),

17. Values of k for the equation kx(x = 2) + 6 =0
50 that it has two equal roots are

(A) 0,8 (B) &

(c) 2,3 (D) None of these
18. Number of districts when Haryana was carved

in 1966 was

{A) 21 (B) 15

(C) 7 (D) 9

19.  Department of Information, Public Relations
and Languages, Haryana brings oul a
magazine named
(A) Haryana Vikas
(B) Haryana Darshan
(C) Haryana Samvad

(D) None of the above

w48 wtﬂmtm,m £

14,

15.

16.

17.

18.

19.
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pi 2 ©,5
(C) 10 ) 13
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(A) GREAT

(B) OUTAGE

liﬂ} SURAT

D] GREGARIOUS
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(A) NaNO, {8y KNO,

(C) LiNO, (D) Ca(NO,).
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(A) 0,6 (87 %
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(A) 21 (B) 15
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25.  Nationa
15 prese
(A) K
(C) M
26. Surdas
followin
(A) sh
(C) Hu
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networking.

(A) Access to rem Iz

(B) Resource sharing

(C) Power transferring

(D) Communication

. The Article of Indian Constitution which gives
special status to Jammu and Kashmir

(A) 370 (B) 382

(C) 371 (D) 372

Select the correct one.

|: Ambala receives the highest rainfall in

Haryana.
Il It is surrounded by Shivalik hills.
{A) Bothland |l are true and llis the correct

explanation of |
(B) Bothland Il are true, but Il is the not the

correct explanation of |

(C) lis true, Il is false

(D) Bothare false
National Bureau of Animal Genetic Resources
is present in

(A) Kurukshetra (B) Karnal
(C) Mewat (D) Rewari

- Surdas was a contemporary of which of the
following Mughal ruler ?

(A) Shahjahan (B) Akbar

(C) Humayun (D) Babur
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3/2018 (1) (M) s
27, Evidence, under Indian EVIGER
| and includes
Oral Evidence
{‘;JJ Documentary Evidence
(C) Both (A)and (B)
“:.J Mone of the above

tocted area contains one of the last
rmwn; remnants of Delhi Ridge hill range
{A) Bhindawas Wildiife Sanctuary
(B) Asola-Bhatii Wildlife Sanctuary
(C) Nahar Wildlife Sanctuary
(D) Abubshahar Wildlife Sanctuary
Salect tha correct one.
I. Gingee forl — Tamil Nadu
| il. Ajantha-Ellora caves — Madhya Pradesh
! {A) Only | is correct
(B) Only Il is comect
{C) Both are correct
(D) Both are wrong

30. This Haryana based wriler was the editor of
Urdu Magazine ‘Bharat Pratap'.
(A) Balamukund Gupta
(B) Pratap Marayan Mishra
(C) Mahaveera Prasad Dwivedi

f (D) None of the above

31. The process of delivery of the foetus is called
(A) Implantation (B) Fertilisation

J (C) Parturition (D) Ovulation

| 29.

32. Consider the following statements regarding
Right to Equality in Indian Constitution.
1. Article 14 - All are equal before law.
2. Article 16 — Equal opportunity in public

employmaent.

3. Article 17 — Untouchability is Prohibited.
4. Article 19 — Abolition of Titlas.
(A) 1and4 (B) 2and 4 only
(C) 1,2and4denly (D) 1,2and 3

33. If the coefficients of 2", 3" and 4" terms in

the expansion of (1 + x)" are in A.P., then the
value of n is

(A) 2 (B) 7

(C) 11 (D) 14

P

29,

30.

31.

32.

33.

Il. SFiA-Tei
(A) e | T

(BY et || HE R

(C) =i wei R

(D) #Hi e &

BT 1 78 o 34 UEE N W m
qYTE=h |1 |

(A) e T

(By” W v fax

(C) wewt wawE fiEd

(D) 3% 8 & F 7
YIRIANE_ wEerg

(A) T (By fi=m

(C) w5a (D) HeEwEs
WA Bfaa § aama % aferw & gav A
Feferfaa Fui w fmm |

1. T2 14 - FiE & Fwe ot g £ |
2. FTR 16 - RS TR 5HE
3. AT 17 - Ireywra P d |

4. FTBT 19 ~ I =1 I |

(a) 134 (B) 23 454w
€] 1. 2¥4%am (D) 1,233

(1 + )" 3 fermor 8 gg, dien sfohd 7@ F
T FHIR At A R, naue B

(A) 2 ® 7

(C), 11 (D) 14

38.

39.

Whal
int mi
char
int i

for (i

cout .
returr

]

(A)
(B)
(C}
(D)

of po
(A)
(B)
(C)

(D)



g 34, Which of the following country is not included |
in the gwimmm as the
‘Indian nent’ 7
(A) Myanmar (B) Pakisthan
(C) Bangladesh (D) India .
35. Present Law Minister of India is 35,
{A) D.V.Sadananda Gowda
| (B) Ananthkumar Hegde
(C) Ravishankar Prasad
(D) Nithin Gadkari
The interference fringes for sodium light
(%= 5890 A°) in a double slit experiment have
an angular width of 0.2°. For what wavelength
will the width be 10% greater ?
(A) 5890 A° (B) 7500 A° ;
(C) 8479 A (D) 8768 A° (C) 6479 A°
37. Blue Revolution is related to q7. HEftwima
(A) Oilseed crops (a) Fema
iB) Vegetable crops (8) @ A
(C) Milk production (6); SH e
(DF wee J
(D) Fisheries e ) R =
g\ 38, The condition of the atmosphere ata given g, T faw 0 T SfHER T ATHEE i R
place and time is termed as I 1
(A) Climate (B) Weather (A STy (By dram
(C) Maeteorology (D) None of these (C) tram- g (D) = § F1E
39. What is the output of this program 7 19, mﬂmﬂﬁﬁ-ﬁﬂt?
int main{ }{ int main( }{ -
char arr [20], char arr [200;
int i int i _ il
for (i=0; i< 10; i++) for (i=0; < 10; ',.H"'. QT
* (arr +i) =65 + i; "(arr+1i) =65+
5 " (arr + i) = 0" * (arr + i) = 0%
R cout < < arr;
cout < < ar, return 0;
return 0, )
} (A) ABCDEFGHIJ
(A) ABCDEFGHIW (B) AAAAAAAAAA
g ;‘f;;:gg?;gm (CY 0123456789
(D) None of the above (D) 39 HE Bk TE
4. s responsible for generation |  40. BTN H 1 3T E?L'Sﬂwiﬁ!-l
’ of power in HaEn,rana. g : (A) ERETT ETeTd T S
| = () Haryana Electricity Relorm mmission R LT,
(B) Haryana State Electricity Board iBi__?__a*ﬁ?rrﬂﬂ- G T faea m{ . 10h
(C) Haryana Power Generation Corporation (€] Bfwmm el Irane Firitye fafiee
Limited (DY framm forepa wew o ferfiees

(D) Haryana Vidyut Prasaran Nigam Limited

: P
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47.

22018 (1) (M)
1.

Coefficient of variali
are 50 and 60 and thei
30 and 25 respective
standard deviation 15

r arithmetic means are
ly. Difference of thelr

(B) O
1
{fg; 1.5 (D) 25
what will be last digit of the third number from

the top when the numbers 517, 325, 539, 841,
702 are arranged in descending o:-d?r after
reversing the position of the digits within each
number ?
(A) 7
(C) 5

(8), 3
(D) 2
was a famous freedom fighter
from Haryana who later became the CM of

the State.

(A) Devilal

(B) Bansilal

(C) Bhoopinder Singh Hooda
(D) Manohar Lal Khattar

Sahiwal is a breed of

(A) Chinkara (B) Tiger

(C) Crocodile (D) Cow

Which of the following function/method acts

as a constructor in python ?

(A) construct()

(B) __init__(}

{C) __sir__

(D) function whose name is similar to class
name

Which of the following is one of the
5 villages Yudhishtira wanted to borrow from

Duryedhana ?
(A) Mewat (B) Palwal
(C) Kamal (D) Sonipat

Negation of ‘All triangles are equilateral

triangles’ is

(A} All triangles are not equilateral

(B) All equilateral triangles are not
triangles

(C) There exists a triangle which is not an

~ equilateral triangle

(D) Allof these

on of wo distributions

42,

45.

46.

47.
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. This Panchkula baaad write

(C) 1263
Kendra Sahitya Academy Award for 20
(A) Nachhatar

(B) Ramesh Kuntal Megh

(C) Nasira Sharma
(D) Mridula Garg

. This woman secured 2™ rank in UPSGC

who has also been named as the brand
ambassador for betibachao, betipadhao
campaign.

(A) Anu Kumari (B) Divya Kumari
(C) Saritha Kumari (D) Preeti Kumari
The sum of odd numbers between 0 and 50 is
(A) 600 (B) 530

(C) 480 (D) 825

. A man goes towards east 5 kms, then he

takes a turn to south-west and goes 5 kms.
He again takes a turn towards north-west and
goes 5 kms. With respect to the point from
where he started, where is he now ?

(A) East (B) Morth

(C) West (D) South

. With the passing of the India Independence

Act, 1947, India immediately became
(A) Republic State
(B) Democratic State
(C) Dominion State
(D) Secular State
Which one of the following statement about
cold war is wrong ?
% Itis an ideclogical war.
USB,F! and America engaged in direct

e HLB a competition between the blocs of
‘Soviet Union and USA.
'[13'} |!111Eﬂvatﬂd arms race in the world.

52.

53.

25,

56.
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3/2018 (1) (M)
57. To contesl
must aftain
(A) 22 years
(C) 25 years
58. A setof nvalues X, X, ... X has standard
daviation o then the standard deviation of

x, + K x, +k ..x +kwil be

(A) o (B) o+k
(C) o-k (D) ko

in the Loka Sabha Election one

(B) 24 years
(D) 30 years

enzymae converts glucose into
ethyl alcohol and carbon dioxide.

(A) Invertase (B) Z}rr'ne&se
(C) Diastase (D} Maltase

60. Value of tan1°- tan2° tan3® ... tan89° is
(A) O (B) 1

o

€ 3 (IS

If sinf + cosech = 2 then sinf0 + cosec?d =
(A) 1 (B) 4

) 2 !

.

(D) >

is known as “Mini Cuba” in India
due to the large number of boxers who hail
from the region.
(A) Bhiwani - (B) Ambala
(C) Karnal (D) Palwal

Measles and rubella are caused by
(A) Bacterial (B) Virus
(C) Protista (D) Fungi

In the following series of numbers, find out
how many times 1, 3 and 7 have appeared
together, 7 being in the middle, 1 and 3 on
either side of 7 ?
297831737713317385713771
73906
(A) 3
(C) 5

61.

62.

(B) 4
(D) more than 5

An ideal coil of 10H is connected in series
with a resistance of 5Q and a battery of 5V.
Two seconds after the connection is made, the
current flowing in ampere in the circuit is

(A) (1-e)
(C) e

(B) (1-¢)
(D) e

59.

61.

62.

63.

65.

=i |1 8
(A) 2234
(@) 2594

n |1 o U G X, X,, ... X, T 0 e
o R X, +k X+ k .. X, + kF I faem

(A) o (B) a+k 68.
(C) o-k B) ko
3R FHEE SEATHEE H B9 st | 69.
(&) T (B) mgHw
(C) ZuRH (D) wrees
tan1® tan2° tan3° ... tan89° FT HH #
® o (Bl o1
ef ©) [ﬁ] 70
7fz sind + cosec = 2 7l sin®d + cosect) =
(A) 1 {Bﬁ; -
© 2 ©
=1 WA H il =g’ Faemm =it
T 4 8 o) we § g A f
(A) fiEt (B) =me
(C) ==& (B TeEw
Tay S waen TEMR |
(A) i 48] fammy
(C) wifewn (D) Fa+
Friferfian st ) s #§ fra an 1
a7umgM iR ydmderal19: 72
3% 21 A ?
29731737713317885713771
739086
(Ay 3 (B) 4 73.
(C) 5 (D) 54 HiuF
10H %1 Uk 3r1ai e 50 3 v s s 5|
1 U &) o W e R | FAE
2 Fehg w2 ity # agAared fga off i 2
(A) (1-e) @ (1-e)
(C) e (D) e
?
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_66. W P(n):2n <nl, ne Nthen P(n) is true for n
D (A) =2 8y =3
é';' G <4 (D) None of these
_:g; Charri dance of Haryana is related which of
B the following fostival 7
= (A) Navarati (B) Teej
(C) Googa Mavami (D) Hali
gg. Ford3sets A B, CifAcCB BcCthen
(A) AUBEC (BY CcALB
(C) A-B=C (D) None of these

69,

70.

.

72,

13,

_won National Film Award for bast
supporting actress for her role in thizs film
Pagdi The Honour.

(A) Usha Sharma
{C) Sumitra Hooda

(B} Baljinder Kaur
(D) Sheela Pahal

2018 Commonwealth Games held in
(A) Singapore (B) South Africa
(C) England (D) Ausiralia

Which one of the following statement is wrong
aboul introduction of Bills in Parliament 7
{A) The Finance Bill can be presented first
in any one of the either Houses of the
Parliament.

President approval is mandatory for all
the bills.

Finance Minister presents the Finance
Bill in Lok Sabha.

Disagreement regarding bills can be
resolved through joint session of the
Parliament.

(B)
(C)

(D)

UNFCCC - 2017 Conference of Parties 23
held at

(4) Edinburgh (B} Morocco

(C) California (D) Bonn

_ isatechniqueinwhichadedicated and
complete physical connection is established
between two nodes for communication.
(A) Packet switching
(B) Circuit switching
(C) LAN

(D) All the above

ﬂl

70,

T1.

T2.

73.
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018 (1) (M)
ﬁ The fﬂ‘-‘" can P2y

(A) Ph gical facts jcal

(8)
(C) , above
(D) W::::an a5 Sripad .Jm'lpﬁd.
= """-.d[:ahﬂ (B) Rewari
(A) Ku:mbﬂﬂ (D) panchkula
(il in which the letters skipped

Select Wﬂ%; letters do not decrease
Jn bet'-'\"“

o ez
rc'] ];JGVFK

a

(8) GWIQU
(D) PJXHM

77. This person is considered as the father of

78.

79.

80.

81.

Bhakra-Nangal dam

(A) Seth Chhaju Ram

(B) Chaudhari Chhotu Ram

(C) Chaudhari Sukhram

(D) Diwan Bahadur S.P. Singha

Which of the following is the name of the
monthly magazine published by Haryana
Sanskrit Academy ?

(A) Sanskritavani

(B) Sanskritabharati

(C) Hariprabha

(D) Sanskritabhasha

The gaseous envelope of invisible film of air
surrounding the earth is called

(A) lonosphere (B) Troposphere
(C) Stratosphere (D) Atmosphere

Hali Award is given by

(A) Haryana Punjabi Academy
(B) Haryana Urdu Academy
(C) Haryana Sanskrit Academy
(D) Haryana Hindi Academy

The group of Planets called as ‘Inner Planets’
are

(A) Mercury, Jupiter, Earth and Satum

(B) Mercury, Earth, Neptune and Jupiter
(C) Mercury, Earth, Mars and Saturn

(D) Mercury, Venus, Earth and Mars

=12=-

T"-

75.

?EI

78.

79.

80.

81.

=

{gﬁ - "
(8) T
(©) mﬁmm
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71 fefofEaa s a wm-mam 2 ?
(A) Hepaamf
(B) TEFaqdt
(C) wftav
(D) HEFAUTI
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(A) FEIHEA (B) &hiEd
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ﬂ, ﬂqumnfvn]u&a of any
~— ndexed by integers. They are

(B) String
(D) Dictionary
{‘ =8 of 60 students, 25 play cricket,

a 6=
& ;11_: cuannits play tennis and 10 students play
A this yames: The number of students who

- peitner rannis nor cricket is
(B) 40

(a) 3%
(D) 50

(c) 25

ynflower is an axample for __ _type

T _ b
of placentation.
(A) Marginal placentation
[B) Free central placentation
(C) Axile placentation
D) Basal placentation

g Cattle and buffalo belongs to the family

(A} Cammelidae (B) Suidae
(C) Equidae (D) None of these

% Inarowof girls, if Seeta whois 107 from the left
andLeana who is 7" from the right, interchange
heir seats, Seeta becomes 15™ from the left.
How many girls are there in the row ?

(A) 17 (B) 20
(C) 22 (D) 21
o, was associated with the tribal

iepublic of the Yaudheyas of the early
Christian period and holds a series of mounds
whichyielded several Indo-Greek coins when
excavated by Birbal Saini in 1938.

(A) Bhiwandi (B) Khokrakot
C) Charki Dadri (D) Kaithal

:‘E"“m one of the following is an ancient port
Indus Valley Civilization ?

A) Mohenjodaro  (B) Kalibangan
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82.
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(D) conjunction

0. Alas! she is no more.

(8}~ pronoun

(By” preposition
(C) eonjunction
(D) interjection

Fill in the blanks with appropriate preposition.

g1. | can't understand people who are cruel

animals.
(AY with (B) for
(C) to (D) at
92. |wasshocked ~ what|saw. I'd never
seen anything like it before.
(A} at (B) on
(C) with {B‘r for

Eill in the blanks with correct form of verbs.

93. Yesterday evening the phone __three

times, while we were having dinner.
(A) has rung

(B) had been ringing

(C) rang

(By” was ringing

g4. What's that noise 7 What ?
(Ay” happened
(B) had happened
(C) has happened

(D) is happening

98.

99.

100.
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1.

Tomb of
female hmnarr-n 15 In Kaithal, Haryana.

___whowas South Asia's first
(A} Rani Padmini

(B} Raziva Sultana

f.CJ Moorjahan

(B) Mone of the above

" N
JRrt oy — thean x =
{_-ll 71 ﬂl
(A) 56 (B) &4
16) 78 (D) 80

Which ona of the following is not true about

Rigveda ? ¥

(A) Itisthe eadiest Veda,

(B} It is complied between 1000 to
BCE.

(C) It consists of hymns Pralze of Aagni,
Indra and Soma

(O} Nisa Veda of Melodies and Charts

1500

In a flowechan rhombus
(A) Decision making
(B) Input cutpul operation

(C) Start and end the program
(D) Off page connectaor

symbol is used for

Which term of the sequence 2, 242, 4,
Is 1287

(a) 12 (B) 13

(C) 14 (D) 15

The width of & single shit if the first minimum
is observed at an angle 2% with & light of
wavelength G980A° is

(A) 2x10°*mm (B} 0.02 mm

(C) f:2mm D) 2mm

fesiure of ohjectoriented programming
allows you to hide the required data.
() Polymorphism (B) Inheritance
(C) Abstraction (D) Encapsulation

Present Chalrman of Mational Commission

for Women (NCW)

(A) Arundathi Bhattacharya
(B) Snehalatha

(C) Lalitha Kumaramangalam
(D) MNone of the above
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9.

11.

12.

13,

14,

15,

i

A

awdihary wor the Indira
Bast Dbt Flim of &
soeegrcis tor tha

|y 2000, Aswin e
Gandni Award lor
Director at ihe plational Flm
Haryanvi film

{8) Chakad Chhora

By Laado

{C) ' Phoal Badan

(B0} Jatani

_is the space lgft on one skda fal 10.

gtjiching and Dinding.
(&) JJustity
{C) Gulter (D)

(B} Biuallat
Partrail

The Summit which praducad convantion 11.
deallng with climate change, Dpdiversity
{orestry and racommended a lisl

af develapmental praclices known as
‘Agenda 21" s
||'1-] Mairobl
{0} Johanaburg (o

(B) Dwoha
Rio di Janalro

Sahibi river wWas called @g ___ dunng 12

Vedic period
{A) Karnavali (B} Kumudval
(G} Saraswal {0} Drishadvah

I 1986, Punjab Reorganisation Act divicead 13.

b [ T R AlEiely shah
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e e Rt AT o e o o
i) R W
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Punjab and transferred territony 1o tha than
Unkon Territany s | S gt |
(A) Haryana (A) ifl"ﬁlﬂﬂl
(B) Himachal Pradesh (B) fEmreE w2
(C) Delhi (c) fawei
(D} Punjab (D) T
Mugic of Pandit Jasraj belengs to which of 44, W, s W Feaferfs 8 8 fis S
the following Gharanas? # s & 7 p—
(A) Klrana (B) Agra (A) e ml St
(C) Qwalior (D) Mewati (&) Tt :qﬁ" U PE
Which of the following writs s [ssued by an 15, ffim ﬂﬁ;ﬂm A
a.ppmptlatﬂ Judicial body In grder 1o free 8 E ‘I; LA I'IE &7
person who has be jegally detalned ? it 7 ﬁd E"Fr T
(A) Cuo warranta EE] LiIEEd
(c) I p

(B) Mandamus
(C) Certiorar
|D) Haheas Corpus 2
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17.

18.

19.

20.

21,

22,

23.

In 2000, Aswini Chowdhary won the Indira
Gandhi Award for Best Debut Film of a
Director at the Mational Film Awards for the
Haryanvi film

(A) Dhakad Chhora

(B) Laado

(C) Phool Badan

(D) Jatani

__Is 1he space left on one side for
stitching and binding.
(A)  Justify
(C) Gutter

(B} Bullet
(D) Portrait

The Summit which produced convention
dealing with climate change, biodiversity,
forestry and recommended a list
of developmental practices known as
‘Agenda 21'is
(A) Mairobi

(C} Johansburg

(B) Doha
(D) Rio de Janejro

Sahibi river was called as
Vedic period.

(A) Kammavati
(C) Saraswati

during

(B) Kumudvati
(D) Drishadvati

In 1968, Punjab Reorganisation Act divided
Punjab and transferred territory to the then
Unian Territory

(A) Haryana

(B) Himachal Pradesh

(C) Delhi

(D) Punjab

Music of Pandit Jasraj belongs to which of
the following Gharanas?
(A) Kirana iB)
(C) Gwalior (]

Which of the following writs is issued by an
appropriate judicial boedy in order to freg g
person who has be legally detained 7

(&) Quo warranto

(B) Mandamus

Agra
Mewati

(C) Certioran

(D) Habeas Corpus

17.

18.

19.

20!

21.

22.

23.
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2000 #, Hfrat =tad 4 sfamE! feey
¥ T e [ERrl | U s
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24. Which of the following is correctly matched 7

25. Chairman of National Human Rights

26,

27.

28,

29.

(A) Karoh peak — Shivalik hills

(B) Dhansi hills — Morni hills

(C) Mewat hills — Aravali hills

(D) Ghaggar-Hakra — all season river

Commisgion must be
(A)

Retired Chief Justice of High Court
(B)

Retired Chief Justice of Supreme
Court

Retired Judge of Supreme Court
Mone of the above

(C)
(D)

Which of the following poet is regarded as
the John Milton of Haryana ?
(A) Kashmiri Lal Zakir

(B) Altaf Hussain Hall

(C) Dayachand Mayna

(D) Samartha Vashishtha

Pollen grains are well preserved as fossils
due to the presence of

(A) Germpores

(B} Sporopollenin

(C) Intine

(D) Microspore mother cell

While appointing the Prime Minister the
President selects

(A) Leader of the largest party in Lok
Sabha .

(B) Leader of the largest alliance in Lok
Sabha

(C) Leaderofthe majority party or alliance
in Lok Sabha

Leader of the majority party of alljance
in Raijya Sabha

(D)

If the sum to n rarms-of an A.P. 18

S = 3n+2n? then the common difference
=
of the A.P. s

(A) 3 (B) e

(o) 4
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30,

31.

32.

33.

35.

36.

The type of cultivation which Is also calied
as 'Slash and Bum' agriculture

(A) Shifting cultivation

(B) Mixed farming

(C) Sedentary cultivation

(D) Plantation farming

Indian Institute for Horticultural Research
Is based in

(A) Madras

(B) Bangalore

(C) Kochi

(D} None of the ahove

Milk sugar is

(A) Lactose

(C) Fructose

(B) Maltose
(D) Sucrose

According to Einsteins photoslectric
equation, the plot of the kinetic energy
of the emitted photoelectrons, from a
metal versus the fraquency of the incident
radiation gives a straight line whose slope

(A) Depends on the nature of tha metal
used

(B) Depends on the intensity of the
radiation

(C) Depends both on the intensity of the
radiation and the metal used

(D) Is the same for all the metals angd

independent of the intensity of the
radiation

Sucrose |5

(A) Monosaccharide
(B) Disaccharide
(C) Polysaccharide
(D) MNone of these

InC++,C_ and C_are
{(A) functions (B} classes
(C) objects (D) member

Ghaggar-Hakra river basin I8 C‘|EISSl-ﬁ.Ed in
two parts, where the higher area that is not
floaded in rainy season is called

(A) Khadar (B} Bangar

(C) Kalar (D) Banjar

30.

31,

32.

33.

34.

35,

36.
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(C} wgad °Tg &1 Tl a1 ko £ s
2141 W el e
(D) Bt uEal % fow wam R af fson 6
UECGIREE=CE
T &
(A) HAETHEES
(B) ErEdwss
(C) HiTeiHeFIEs
(D) =49 & FrE 3¢
C++H, C, =i G ¥
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(C) #issaey (D) e
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ar.

38,

39,

40.

41,

42,

43

It 25'% is divided by 13, then remainder

IS
(AY 1 (B) 3
(C) 12 (D) none of these
H

& was the first Prime Minister of Pakistan
and his birth place was Karnal,

Wha is he ?

(A) Sir Khawaja Nazimuddin
(B) Mohammad Alj Bogra

(C) Chaudhury Mohammad All
(D) Liaguat Al Khan

Haryana

In an examination, a student scores 4 marks

for every correct answer and loses 1 mark
for every wrong answer. If he attemnpts al|
75 questions and secures 125 marks, then
the number of questions correctly, is
(A} 35 (B) 40

(C) 42 (D) 48

Rajiv Gandhi Thermal Power Station is
located at

(A) Kalayat

(C) Bahadurgarh

(B)
(O}

Pundri
khedar

= ___are meant to enter the data and 1o
receive output from the main computer, as
they cannot process data on their own.
{A) Dumb terminals

(B) General purpose terminals

(Cy Job oriented terminals

(D} Al of the above

Surdas |s regarded as having laken his
inspiratian from the teachings of great
saint
(A)
(B)
(C)
(D)

Ramdas
Haridas
Chaltanya
Vallabhacharya

Given |x— 1| = 5 then
(A) xe(—4,8)
(B) xe[-4,6]

42,

(C) %xe&{~m= —4)u (6, =)
(D) X &(—o,—4] w6 =)

7
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7 afe o5 1 137 fErferm e aman B alIMmE

37, ;
(A) 1 (B) 3 = |
(C} 12 (D) 344 H %I 76!
a8, o7 TIEREAH o1 T WHARA! o7 S I

STATEATA TR, BRATIT A1 | 98 HA 8 |

(A) T T A
(B) Wi Hefl amT
(C) =l HigE STed!
(p) Terarrd sl @=
39, U WIETH, U faendi yrie §El I % fou
4 395 T FA1 & M I Ted I & feu
1 29 T 21 afe 339 Bt 75 ywHl & I90
fu & =it 125 3% i o 2, &1 et wwal
ol =%
& T E
(A) 35 AB) 40
(C) 42 (D) 48
40, T A === J—-f"-""ﬁ' i fegra
" .
AR FETEE (B) geii
(C) #EIETTR (D) @z
N. e Fiufae e e g @

1 ST 6 5 Ty ' =
(A) HF g

(B) w0y 3397 297

(C) =+ a5

(D) 37 i

X ,Iq il C P - framati &
ST tHT T 57y 3 I__ F e
(A) mEEy

(B) #fem
4E) 7 4 — |
(O) Feerram) s

4
ROt e 1) 5 529 . B
) xsb-q.q) &
©) xeCP MGy 1 3
"""“4]“[3,:,] \ 7
&? i ﬂ-;_ ‘H-
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44,

45,

486.

a7,

48.

49,

50.

| T 1&g
"“'.u?:ﬂ::TILﬂ"_.' :;_.Ir (-Jl-""|':|'; program 15 '._|||'-_"_:I.'.'.|

o object code in
(A) De
| H [lll

i~
)

(D}

machine language using
oder

bugger

Compiler

Koo
S5 :'-""_'J||_- [

Everybody in a room shake
body else. The total
handshakes are 66. The
Persons in the roon I8
(A 11
c) 18

avary
&l number ol
(B

(D)

Ll - built a palace in
who was the Dj
Shahjahan

Marnaul

wan of

(&) Birbal

(B} Ral Mukund Das
(C) Ral Madhay Das
(D) Mone of the above

Kalaam-e-Nairang is a compilation of po
written by

(&) Syed Ghulam Bhik

(B} Murari Lal Sharma

(C) Allama Muhammad lgbal

(D) Altal Hussain Hali

||:,.I

surajkund International Crafts Mela, a
cotourful traditional craft testival of India wil
ba held every year during the month of
(A) January

(8] February

(C] March

(D Agpril

Five years ago, Nun was fhrice as oid g=
Sonu. 10 years later ILlrl will be twice

as Sonu. Find the present age of So

(A) 20 yrs. (B} 10yrs

(G) (D) 15yrs

In a photograph, ahyam Is 1o the |gfy af
Madan, Mary Is to the right of g_,,,l”,,,
Karim s in |_'|.-|'.-'..u:-r-n Shyam and Mary, '.,.1,..'| o
is al the comer "
(A) Shyam
(C) George

12 yrs,

(E)
(D)

Mary

Karim

Mughal emparor, |

a4,

47.

48,

49,

50.

(C)

()

(AL HJ I

UHEE g 9rard Jeh GlR L ATosa

T U9

(B) T==17T1

f : 1 _-|1!'|:"j'

|:._l"| .I'-'}-i"l:

IeiE H Wed® 4 gl

= FEEa

Ik
GE T 1Y e T | A
(A 11

{ O ] 1 4

(), 13

3 AFATE H U e a9

i HETNE SESIE] =l 219 47 |
HTEE

T qEE 2

(C) T HIES 578

(D) SFAH F:E T

FEAH -0
FHFH R |
(&) Hag J-Fn'l.' F:.]-—r

(B) HIF w1e s

(C) FHI HEriz semrey
(D) ST &5 2Tt

- LR

#-P_—r AL ety e, v -0
I 'J.,‘]'IT{- - = L
o7E 4 5 B g -"-'!_-i"-l"T’-r.-’I"'-l_
(A) S
B)
HIE
"'-'F-'Jﬁ

™ T 0=, T Hl
1[ Ili—l_‘]?-r r'I |.'|'".l
=3 Ao HT'] G oy =
A 20EY

(C) 1274

Ugh ﬁ" 1'-' 7 '-FI"r";r

(B

1 &l & o ’1"'
1417 8 g il |

(B) 10=w
(D) 15=m

HEAE B, AR A

©, TR T 3 A 2 Ffg Y Sy At

|.'".'| TOTH

(B) #1

i
(D) =

Ty & _l_ ..... OIANE == 4B

™

5:

54,

56.

9

38,

S .
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51.

Wimbledon Tennis T

held every year in which of ths

Qurnament he

fallon
countries 7

U.S.A
Australia
England

None of the abave

A

[A)
.'E.':,
(C)
(DY
52. The Amendment Act which made that
Council of Ministers shall no exceed 15
of the total members: of the House of the
people

(A) BS

(C) @2

]

(B)
()

o

53. 2019 Pravas Bharathiva Divas will t
n

(A)
(B)
(C)

{

e held

Lucknow

Varanasi

Ljjain

Mone of the above

54, ‘Which of the lollowing is a mathematical
slatement ?

(A) xisareal number
(B) switch off the fan

(C) Bis a natural number
(0] letmego

55. In stomach, the
proteins imo peptides,
(A) Diastase

() Urease

(B)
{8}

Maltase
Fepsin

56. M1 (x)=cos"x + sec then
{A) {E)

(C) ()

f (%)<
T=f(x)=2

fi{x)=1
fiix) =2

57. Which of the follawing Is not corract 7

gt (&) sing =1 (B)

cosd =1

() sec.-r.-]—-:__; (D) tanfl = 20

58. A heritage museum in __is'the anly
surviving steam loco shed in Indla and
houses some of India's last surviving steam

lpcomotives.

.

(A) Bhiwani
(C) Jind

(B)
(=)

Rewar
Kurukshalra

L Ve TR L

-
| =

5 7 I
) ._1a hi) ;E; .

52

53.

57.

a8,

Jes-
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ufeay] Geie 99 i

D) 3 H H Hig 78] L1
== monae st =t 53 ufiee & 557
A9 & Fe g2 # a1 F 15% &
sAfian 781 gt

(B) 91
(B}

a3

2019 =1 vl uiEfta eea
{A) TEATR
(B) FHoTH 03 =

({0 e T

(D) T 4 =7 7

S S o S s N g e =S /
IFTIRTRET o H I =510 it s & 7

(A) x T aedlaT g e

(B) 94 =55 &1 paly 3 =t 1

§ : : ._. | -'| & _'I
(C) 6T wreifeie: Hean 8 :
(D) =gt = 5 7|

SHTHT H 1 1 drergam § it w50
:‘|r.'|'I I"_Tr"[l: ;_,. -
{A) =

{C) Fhu=
e

A Hx) = ¢0g%x + secex i
I"rl': f D':l =1 |E'.|
() ;

Uit i~

£ r o o

Pl 4 - e e 2 7
(A)

(B) Head
4By Tfam

|;';,7‘ iy .":13.

fix) =1

|'Cf|:.’._|-::2 ff) =2

Nkl
Rt (B) cosd =1

(C) sech - 5‘ LEY tand =20
—— AU o mne e g LETin
GEGITo R — GUEICER B
FHH A % 3ifam wr % EATE | .
(A) i —B) @rE

(C) g (D) F=ay
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3/2018 (3)
58,

E0.

B1.

62.

63.

64.

65.

India's longest tunnal recently opened in
(A) Jammu Kashmir

(B) Punjab

(C) Haryana

(0) None of the above

In the series, 64 1 22B74215386217

1443286 how many pairs of successive
numbers have a difterence of 2 gach ?

(A) 4 (B) 5
C) 6 D) 7
Two

identical capacitors 1 and 2 are
connected in series to a battery as shown
in figure. Capacitor 2 contains a diglectric
slab of dielectric constant K. Q, and Q.
are the charges stored in the capacitors.
Now the dielectric slab is removed and

the corresponding charges are 0O} and Q!
than

e

Q_Ket o O Ket
(A) 0 kK (8) Q, 2
QKA G
© @, 2« ® §,72
LetP(n):2n+ 1 <2" neNthannis
(A) =3 B =2
C)y =3 M =4

was the founder of Vardhana dynasty
{F Harshavardhana
(B) Vishnuvardhana
(C) Pundravardhana
(D) Pushpabhuti

If A and B are two sets, then A (AUB) =
(A) A (B} B
(C) ¢ (D) ArB

dance is performed during the long
wait for the bridegroom to bring his new
bride home.
{A) Dhamal

(B) Raslesla

(D) Khoria

(C) Gugga

60,

61.

62,

63.

64.

B5.

RO AR

59. WA I gad T R A

Gl T ¢ |

A) S Tt

(B) Tarma

(C) wfmmm

(D) 3% H ¥ 15 A6

6412287421838621714432

86 AEen 4 fra-ft @i Fema & g
wie 2 &1 At e 7

(A) 4 ~B)
{C) & (O}

71 S il 1 3 2 g A fea smmm
U At & e e e | A 2 8 wnfag
T K =7 U TS =E £ | Q, 3 Q
aift 5 Weiita smae £ | @ gnafos w
521 41 Wil € R W e1E Q¢ 3 Q)

e

i LI

QK+t Q5 _ K
Q; _K+1 Q_K
() Q, 2K (O} Q 2
qﬂ?flﬁEP{n}:En+1c21,n.5Nﬂ:fn§'-
(A) =3 (B) =2
€) =3 D) =4
:  FUA 51 ] e a7 |
(&) wHEH
(B) famEy
(C) HgaHa
(D) gnifa
zrﬁmafrr_sé‘rmr—u:u%.ﬁ’m:.m._ﬂ}:
) A (B) B
(C) & (D) AnB
T T B g 1w ) e
% g Fra s &
(A) HH=E (B) T
() Tm 4B) wifgm

H

i

-

67

8.

69.

70,

1.

72,




IR0 A

66. South Asia's first Ro-Ro terry service

67. The Article of Indian Constitution which lays
down some Directive Principles of State
Policy on Promotion of International Peace
and Security is
(A} Aricle 58
(B} Ariicle 68
(C) Article 51
(D) Mone of the above

68. Which of the following is not & National
|dentity 7
(A) Saka era calendar
(B) Gangetic Dolphin
(C) Asoka tree
(D) MNone of the abaye

68. Spreadsheet files are generally stored with
an extension
{A)] .doc (B) .xs|
(C) xel (D) .xls

70. Section 360 of IPC deals with
(A Kidnapping
(B) Theft
(C) Murder
(D MNone of the ebove

7. Who is famous with the name of Haryana
Kesari 7
(A} Pt. Meki Ram Sharma
(B) Devi Lal
(Cy Bansl Lal
(0} Bhagwat Dayal Sharma

72, li'¥ means'=, = Means '+, ‘x' means +,

recently inaugurated by Prime M inister i
which of the following States ?

(A) Maharashtra

(B) Gujarat

(C) Andhra Pradesh

(D} MNone of the above

means ‘= thenvalua of 5—38 + 5 « 40 « 10
is equal to

{A) 20 (B) 140
(C) =20 (D) none of these
A41-
T
fo| LY
s N S

41 £ 00
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EE. "Jﬂ!-'i']:i?l" HOEHE LI ST o R gy g 1'.: e
Bt ot W (ATt 3 o ey 1 e g & -
(A) HEI
-;F!f‘ J.._._-..|n-
(C) Y9 yeT]
(D) 39 H H F1S 7
67. MIATE HIEUH F1 =27 =i ST T

69,

70.

a1,

A ag

3 & F seEr 3 F fav ey
[T 01 1 WIS AT

(A) ¥=es 58
(B) 9<% 68
(C) ¥H=3% 51

(D) T H =13 787

=TI & & -1 U 11 TEer 78]
27
(A
B}
(C)
(D)

AT HA Feiat
HEIH -’:_['rﬁ

I 1 # S 6

Hi=fiz wrEel amT: v R

F 1T T2 B

AR doc (B) .xsl
{C)  xcl (D) .xls
IPC %71 s=a2 360 S98 et 2
() TR

(B) =i

(C) T

D) T 98 55 2

T B S 3 a8 sEEE 7

A 9. S T

(B) a.ﬂ e

Gy -’,‘]Iﬂ?"ﬂﬁ

D) 1 T gt

M 4 aef gy e s g

L ar w'E, ?'1-'?S|I—_3-5+ 5:40%10=
e e

(B) 140
(D) A B Wi A
N

C) —zp

Clag- R M

o
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3 - was the first Regional Party ol
Haryana
(A} Haryana Janhit Congrass
(B) Janata Dal

&) Vishal Haryana Party

0} Indian National Lok Dal

LY
T4, I= the first State in the country 1o have
launched a web portal-basad € Centrallsed
Public Grievances Redress and Meonitoring
:.‘-:,- stem
1A

F
L

Uttar Pradesh
Punjab

(B) Kamalaka
(D) Haryana
75. Pasleunzationisa

(A) Low lemperature treatment

(B) Steaming treatment

(C) High temperature treatment

(D) Low and high temperalure treatment
76. Alnad Bikaner was a renawned Hindi and
Urdu poet of

(A) Shringarras

(B) Hasyaras

(C) Shaantaras

(D) MNone of the above

77. ‘Which one of the following is a purpose of

'Project Tiger' 7

(A Kiling of Tigers

(By Protecting Tigers from illegal killing
(C) Tomake filmson Tigers

(D) Putting Tigers In Zoo

78. Operating system |s 8 type of
(&) Application software
(B) Ltility

(C) Syslem software

(D) Language processor

79. A survey shows that 63% of the people
watch a news channel where as 76 % watch
anather channel. |f x 9 of the people walch
both the channels then

() x=as (B} »=63

(C) 39 =x = &3 (D) x=238

Mame tha fial bone on the ventral midiing
of thorax.

Coocal
FermLr

80.

SEOTUMmM
Sternum

(A)
(C)

(B}
(D)

T3,

74.

7a.

78,

7.

V8.

79.

80.

RIS O
U
efeon = veel! &g o o |
o srAfed #10E

(A)
(B) a1 &
(C) fTeremrer wfamom wref
(D) =fEaa JvFa & g

s a9 viee AT wEiE
,_.{pj;;lﬁ?ﬁ R e R A woms
T A el T &
(A} FT TET
(C) TaITE

(B) FdieH
4D) ERET

Ty § U

) = A IER

(B) WY ITEN

(C) F=H A9 ITHR

(D) T 3l 3= 979 3TN

Hoers Tt _ ___ #F 9A-uH e
Eﬂ?'ﬂl?ﬁﬂl

(A) ZFTR T

rb: = Res

(C) I @

(D) 390 A W T2

i T 5 St el § @
FHA-H1 R 7

{A) uﬂmzﬁ!qﬂj

iFl] I BT F I Y T

I W Fr-l':_EIEFHT-rI

(D) Terfarem & amy waa

+4E) TRE HinEE

||D:l EE Il"]--" T“IHTIT

U FEu 2 & 63% wm v wumEm
< W@ & | el 76% g S wwd E |

& x% I 2 et e 2, o :
(A) x=35 (B) x=63

(C) 39 =x =83 4B x=3g
nﬁa:a;—mﬁramiarwmmwm

HATE

(A) e (B)

(C) (D) =
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81. Protein present in cow's mjlk i
'i'n':' .Z"E"-ri ':E] L::l._.||'-1|:'-|_||*-| n
(C) Casein (D) Albumin
B2. There are 36 cows in a nerd. 20 arp y, hite
28 are brown. How many have both | b
- colaurs 7 =
1_1 (A) 12 B) 10
B C) 16 (D) 14
83, Lonedistrict of Haryana that does nol share
its boundaries with any of the States o |
Union Territory |s
(&) Sonipat (B) Rohtak
(C) Sirza (D) Jind
B4, The Pariament of Japan is called
(A) Diet (B) Parliament
(C) Bundestag (DY Duma
Ted B85, Cocaine is obtained from the plant
(A} Enthroxylum coca
(B) Papaver somniferum
(C) Cannabis sativa
(D) Hibiscus rosasinensis
: 88. The Directive Principle of State Policy
3 underline philosophy of
(A} Socialism
(B} ldealism
(C) Sarvoday
(B} Democratic centralisation
&7. Choose the correct option to complete ihe
A matrix,
40 160 7
B0 5 20
20 40 ‘Iii}_lI
 FHTER {A) 380 (B) 120
e (C) 140 () 80 n
®. People who are bald are generally o'
Inteliactual type.
Anun is bald,
Theretors Arun is intellectual.
R = AT Choosa the carrect option.
Trug
(B) Probabiy true
(C) Falga
I o) Can't say 43~
|
| 14

81.

82.

83.

B35.

8v.
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English Language

the blarl-
#ANKS With appropriate preposition
NOH i

. must hl’: conteni what you
NeElvE

at
(D) far
S0. oy

.|| “WEI0TINish the work new years

AA) by
(B) at
(©) in

=5

;. 4 | |_'_|"|

5
IO ETT 2 SRniamro W i - ..
Select the sentence which is gramatically wrang
3. (A) 1 will come if you invite me-
(B) He will certainly pass the test,
AL e had gone lo the pictures last night,
(D) The man complained that his cyole
nad been stolen,

92. (A) Takecare that you are nol cheat.
(8) | went to Mumbai recently
2] | am waiting here since marming.
(D) He returned from London last March.

Use correct question tag far the fallowing

sanlences |

93. Don't be late -
(&) Don'tyou 7
(B) Wan't you ?
(Cy Willyou ?
{B) Doyaou ?

g4, Lefs go out tenight _
4#A) Shallwe ?

{B) Canwe?
(c)
(D)

Shan't we 7
Will you ?

95.

o
o

oa.

99,

100.

48)

HA) =T

O A

e 372 31 G €

(Ay Tl

(B) il

(C)

) TN

oy it P & 36 T A FHareT &Y 2
iy et fea |

T & fardt et S 2

() T gt o |

(D) 7w = TeAtEaT €7 |

(A)

1+ 39 = T A Hl G 8 7
(A) T &Y

(B) =4si- @iy

(C) Thg g .

(D) Termmi wfey

§TH T s 2 F
(A} =7=eh
(B 37 ||
{G) qH

D) Fermaad

T T R 25y e 2
W) TiiEe e

(B} aﬁﬂ?,{a-;-.:n—:fl__mq_l

(C) IS T2

(D) B2 F F7 1y

(B} HawfwmE

(C) ATfEE
(0) =T=m




